
SAMPLE QUESTIONS
(Commerce)

• There are 50 sample questions for each class while the actual paper will be of 100 questions

• Question paper is divided into 5 sections – Accountancy, Economics, Business Studies, English & Logical 
Reasoning 

• Every question has 1 correct answer

• There will be no negative marking

• All questions carry equal weightage

• Duration of actual exam (with 100 questions) will be 2 hours

• In the actual exam, please read the instructions given on the OMR sheet carefully and submit the completely filled 
OMR sheet before leaving the exam hall

• In the actual exam, additional 10 minutes will be provided for reading the instructions and filling the OMR sheet.
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Section A – Accountancy 

1.  What is the most important social purpose of

financial accounting?

a. Recording financial transactions

b. Try to show an inflated profit statement

c. Providing reliable and sufficient information

d. All of the above

वित्तीय लेखाांकन का सबसे महत्िपूर्ण सामाजिक उद्देश्य 
क्या है?

(ए) वित्तीय लेनदेन का लेखा िोखा रखना
(बी) बढे हुए लाभ का वििरर् ददखाने का प्रयास करना 
(सी) विश्िसनीय और पयाणप्त िानकारी प्रदान करना
(डी) उपरोक्त सभी

2. An expenditure which is not having a saleable

value and if its benefits are enjoyed over a

number of years, it is termed as

a. Revenue Expenditure

b. Capital Expenditure

c. Deferred Revenue Expenditure

d. None of these

एक खर्ाण िो बबक्री योग्य नहीां है और अगर इसके 
लाभों का कई सालों से आनांद ललया गया है, तो उसे 
इस रूप में कहा िाता है
(ए) रािस्ि व्यय  
(बी) पूांिीगत व्यय
(सी) विलजबबत रािस्ि व्यय  
(डी) इनमें से कोई नहीां

3. Claim payable for the case pending in the

court is a

a. Short Term Liability

b. Contingent liability

c. Long term liability

d. None of these

अदालत में लांबबत मामले के ललए देय दािा एक है
(ए) अल्पािधि दाययत्ि  

(बी) आकजस्मक देयता
(सी) लांबी अिधि की देयता 
(डी) इनमें से कोई नहीां

4. When Furniture is purchased on credit, which

two accounts will be affected:

a. Purchases and Creditors

b. Furniture and Bank

c. Furniture and Creditors

d. Purchases and Cash

िब फनीर्र उिार पर खरीदा िाता है, तो कौन से दो 
खात ेप्रभावित होंगे:
(ए) खरीद और लेनदेन  
(बी) फनीर्र और बैंक
(सी) फनीर्र और लेनदेन  
(डी) खरीद और रोकड़

5. What would be correct Journal Entry if

Machinery is purchased from S.K. Machineries

on credit:

a. Purchases A/c Dr. To S. K. Machineries A/c

b. Purchases A/c Dr. To Cash A/c

c. Machinery A/c Dr. To Cash A/c

d. Machinery A/c Dr. To S. K. Machineries A/c

एस.के. से मशीनरी उिार पर खरीदी िाने पर सही 
सामान्य प्रविजटि क्या होगी। के्रडडि पर मशीनरी:
(ए) खरीद खाता (Dr) नाम एस के मशीनरी खात े से
(बी) खरीद खाता  (Dr) नाम रोकड़ खाते से
(सी) मशीनरी खाता (Dr) नाम रोकड़ खाते से
(डी) मशीनरी खाता (Dr) नाम एस के  मशीनरी खात ेसे

6. What would be correct Journal Entry if

Furniture is purchased from Idus Furniture on

cash:

a. Purchases A/c Dr. To Idus Furniture A/c

b. Furniture A/c Dr. To Cash A/c

c. Purchases A/c Dr. To Cash A/c

d. Furniture A/c Dr. To Idus Furniture A/c
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फनीर्र नकद पर इडस फनीर्र से खरीदा िाने पर,

सही सामान्य प्रविजटि क्या होगी
(ए) खरीद खाता (Dr) नाम इडस फनीर्र खाते से   
(बी) फनीर्र खाता (Dr) नाम से रोकड़ खाते से
(सी) खरीद खाता (Dr) नाम रोकड़ खाते से   
(डी) फनीर्र खाता (Dr) नाम इडस फनीर्र खाते से

7. When Wages are paid for construction of a

Building which Account will be debited:

a. Labour’s Personal A/c

b. Wages A/c

c. Bank A/c

d. Building A/c

िब ककसी भिन के यनमाणर् के ललए मिदरूी का 
भुगतान ककया िाता है तो खाता डबेबि (नाम)ककया 
िाएगा:
(ए) श्रम का व्यजक्तगत खाता  
(बी) िेतन खाता  
(सी) बैंक खाता  
(डी) बबजल्डांग खाता

8. This concept helps in keeping private affairs of

the proprietor away from the business affairs.

a. Money measurement Concept

b. Verifiable Objectivity Concept

c. Dual Aspect Concept

d. Separate Legal Entity Concept

यह अििारर्ा व्यिसाययक मामलों से माललक के यनिी 
मामलों को दरू रखने में मदद करता है।
(ए) िन मापन की अििारर्ा  
(बी) सत्यापन योग्य उद्देश्य सांकल्पना
(सी) दोहरी पहलू की अििारर्ा  
(डी) अलग कानूनी इकाई सांकल्पना

9. Death of an executive will affect the working

of the enterprise but it cannot be recorded

any- where in the books of accounts. Which

principle explains this?

a. Money Measurement Concept

b. Historical Cost Concept

c. Matching Concept

d. Dual Aspect Concept

एक कायणकारी की मौत उद्यम के काम को प्रभावित 
करती है, लेककन यह ककसी भी तरह से खातों की 
पुस्तकों में दिण नहीां ककया िा सकता है। कौन सा 
लसद्ाांत यह बताता है?

(ए) िन मापन की अििारर्ा  
(बी) ऐयतहालसक लागत सांकल्पना
(सी) लमलान सांकल्पना  
(डी) दोहरे पहलू की अििारर्ा

10. Which among the following is correct:

a. Assets = Capital + Liabilities

b. Capital = Assets - Liabilities

c. Liabilities = Assets - Capital

d. All of these

यनबन में से कौन सा सही है:
(ए) सांपजत्त = पूांिी + देयताएां  
(बी) पूांिी = सांपजत्त - देयताएां
(सी) देयताएां = पररसांपजत्तयाां - पूांिी 
(डी) इनमें से सभी

Section B – Economics 

11. Which of the statistical measure is used to

measure relative poverty?

a. Lorenz curve

b. Bar diagram

c. Time series

d. Scatter diagram

सापेक्षिक गरीबी को मापने के क्षिए कौन सा साांख्यिकीय

उपाय प्रयोग क्षकया जाता है?

(ए) िोरेन्ज़ वक्र

(बी) बार आरेख

(सी) समय श्रांखिा

(डी) सै्कटर आरेख

12. _____________ poverty refers to poverty in

relation to different classes, regions or

countries.

a. Urban poverty

b. Rural poverty
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c. Relative poverty

d. Absolute poverty

__________ गरीबी क्षवक्षिन्न वगों, िेत्ोां या देशोां के सांबांध में

गरीबी का उले्लख करती है।

(ए) शहरी गरीबी

(बी) ग्रामीण गरीबी

(सी) सापेक्षिक गरीबी

(डी) क्षनरपेि गरीबी

13. A series in every class interval excludes items

corresponding to its upper limit is called

a. Inclusive series

B) Open ended series

c. Exclusive series

d. Cumulative frequency series

एक श्रांखिा क्षजसमे हर वगग के अांतराि में ऊपरी सीमा के मद

को शाक्षमि नही ां क्षकया जाता है

(ए) समावेशी श्रांखिा

(बी) ओपन समाख्यि श्रांखिा

(सी) अनन्य श्रांखिा

(डी) सांचयी आवरक्षि श्रांखिा

14. Graphic presentation of a cumulative 

frequency distribution is

a. Histogram

b. Ogive

c. Pictograph

d. Frequency Polygon

सांचयी आवरक्षि क्षवतरण का ग्राक्षिक प्रसु्तक्षत है

(ए) आयतक्षचत्

(बी) ओजीव

(सी) क्षचत्िेख

(डी) आवरक्षि बहुिुज

15. A situation when the government’s income

and tax receipts fail to cover its expenditure is

called

a. Budgetary deficit

b. Balance of trade

c. Devaluation

d. Foreign exchange crisis

एक ऐसी ख्यथिक्षत जब सरकार की आय और कर प्राख्यियाां

इसके खचग को पूरा करने में क्षविि होती हैं

(ए) बजटीय घाटा

(बी) व्यापार सांतुिन

(सी) अवमूल्यन  

(डी) क्षवदेशी मुद्रा सांकट 

16. Head count ratio measures number of

a. people above the poverty line

b. people on the poverty line

c. people below the poverty line

d. urban poor in the country

व्यख्यि गणना अनुपात क्षकस सांिा को मापता है

(ए) गरीबी रेखा से ऊपर के िोगोां

(बी) गरीबी रेखा पर िोग

(सी) गरीबी रेखा से नीचे के िोग

(डी) देश में शहरी गरीब

17. Who gave the scarcity definition of

Economics?

a. Marshall

b. Robbins

c. Adam Smith

d. Samuelson

अिगशास्त्र की “अिाव” पररिाषा क्षकसने दी?

(ए) माशगि

(बी) रॉक्षबांस

(सी) एडम ख्यिि

(डी) सैमुएिसन

18. A person who plans and conducts an

empirical investigation independently or with

the help of other is a

a. Investigator

b. Enumerator

c. Respondent

d. none of these

एक व्यख्यि जो स्वतांत् रूप से या अन्य की मदद से एक

अनुिवजन्य जाांच की योजना बनाता है और करता है

(ए) अने्वषक

(बी) प्रगणक

(सी) प्रक्षतवादी

(डी) इनमें से कोई नही ां

19. The class mid- point is equal to

a. The product of upper class limit and the

lower class limit

b. The average of the upper class limit and the

lower class limit
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c. The ratio of the upper class limit and the

lower class limit

d. None of these

वगग का मध्य क्षबांदु समान समान होता है

(ए) ऊपरी शे्णी की सीमा और क्षनम्न शे्णी सीमा का उत्पाद

(बी) ऊपरी वगग की सीमा और क्षनम्न वगग की सीमा का औसत

(सी) ऊपरी वगग की सीमा और क्षनम्न वगग की सीमा का

अनुपात  

(डी) इनमें से कोई नही ां 

20. Average pocket allowance of 6 students is

Rs.45 of these, pocket allowance of 5 students

is 20,30,22,24 and 32 respectively. What is the

pocket allowance of the sixth student ?

a. 130

b. 145

c. 142

d. 120

6 छात्ोां का औसत पॉकेट ििा में 45 रुपये, 5 छात्ोां का जेब

ििा क्रमशः 20,30,22,24 और 32 है। छठे छात् का जेब

ििा क्या है?

(ए) 130

(बी) 145

(सी) 142

(डी) 120

Section C – Business Studies 

21. Incentive which is not given by government to

industries in backward, tribal and hilly areas is

a. Exemption from sales tax

b. Power at concessional rates

c. Preferential allotment of raw materials

d. Free advertising in T.V. and newspapers

प्रोत्साहन जो क्षपछडा, आक्षदवासी और पहाडी िेत्ोां में उद्योगोां

को नही ां क्षदया जाता है

(ए) क्षबक्री कर से छूट

(बी) ररयायती दरोां पर क्षबजिी

(सी) कचे्च माि की तरजीही आवांटन

(डी) टी वी और समाचार पत्ोां में मुफ्त क्षवज्ञापन

22. ‘Earning of profit is considered to be the

subsidiary objective of the business.’ The

given statement is

a. True

b. False

c. cannot say

d. None of these

' िाि की कमाई, व्यवसाय का सहायक उदे्दश्य माना जाता

है।' क्षदया गया विव्य है

(ए) सच

(बी) झठूी

(सी) कुछ नही ां कहा जा सकता

(डी) इनमें से कोई नही ां

23. Following are the characteristics of business

risks. One of them is not correct. Please

identify it.

a. Loss is the reward for risk bearing

b. Business risks are due to uncertainties

c. Risk is an essential component of every

business

d. Degree of risk depends mainly upon the

nature and size of business

व्यापार जोख्यखमोां की क्षवशेषताएां  क्षनम्नक्षिख्यखत हैं। इनमें से एक 

सही नही ां है कर पया इसे पहचानें 

(ए) हाक्षन जोख्यखम का क्षिए इनाम है 

(बी) व्यापार जोख्यखम अक्षनक्षितताओां के कारण हैं 

(सी) जोख्यखम हर व्यवसाय का एक अक्षनवायग घटक है 

(डी) जोख्यखम की क्षडग्री मुि रूप से व्यवसाय की प्रकर क्षत और 

आकार पर क्षनिगर करती है 

24. Economic activities may be classified into

business,  and employment

a. Profession

b. occupation

c. vocation

d. work

आक्षिगक गक्षतक्षवक्षधयोां को व्यापार, …………………….और 

रोजगार में वगीकर त क्षकया जा सकता है 

(ए) पेशा  

(बी) रोजगार  

(सी) व्यवसाय  

(डी) काम 
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25.  If business is to operate in a society which is

full of diverse and complicated problems, it

may have

a. Little chance of success

b. Great chance of success

c. Little chance of failure

d. No relation with success or failure

यक्षद व्यापार एक ऐसे समाज में सांचाक्षित होता है जो क्षवक्षवध

और जक्षटि समस्याओां से िरा होता है, तो क्षनम्न में से हो

सकता है

(ए) सििता का िोडा मौका

(बी) सििता का शानदार मौका

(सी) क्षवििता का िोडा मौका

(डी) सििता या क्षवििता के साि कोई सांबांध नही ां

26. Which of the following alone can ensure

effective ethics programme in a business

enterprise?

a. Publication of a code

b. Involvement of employees

c. Establishment of compliance mechanisms

d. None of them

क्षनम्नक्षिख्यखत में से कौन सा व्यापार उद्यम में प्रिावी नैक्षतकता

कायगक्रम सुक्षनक्षित कर सकता है?

(ए) एक क्षनयम सांग्रह या सांक्षहता की घोषणा

(बी) कमगचाररयोां की िागीदारी

(सी) अनुपािन तांत् की थिापना

(डी) उनमें से कोई िी नही ां

27. That an enterprise must behave as a good

citizen is an example of its responsibility

towards

a. Owners

b. Workers

c. Consumers

d. Community

एक उद्यम एक अचे्छ नागररक के रूप में व्यवहार करना

चाक्षहए, यह इसकी क्षकसके प्रक्षत क्षजमे्मदारी का एक उदाहरण

है

(ए) स्वामी

(बी) श्क्षमक

(सी) उपिोिाओां

(डी) समुदाय

28. The maturity period of a commercial paper

usually ranges from

a. 20 to 40 days

b. 60 to 90 days

c. 120 to 365 days

d. 90 to 364 days

एक व्यावसाक्षयक पत् की पररपक्वता अवक्षध आम तौर पर

होती है

(ए) 20 से 40 क्षदन

(बी) 60 से 90 क्षदन

(सी) 120 से 365 क्षदन

(डी) 90 से 364 क्षदन

29. Which of the following can explain the need

for pollution control ?

a. Cost savings

b. Reduced risk of liability

c. Reduction of health hazards

d. All of them

क्षनम्न में से कौन सा प्रदूषण क्षनयांत्ण की आवश्यकता समझा

सकता है?

(ए) िागत बचत

(बी) देयता का कम जोख्यखम

(सी) स्वास्थ्य खतरोां की कमी

(डी) उन सिी को

30. Under the lease agreement, the lessee gets

the right to

a. Share profits earned by the lessor

b. Participate in the management of the

organisation

c. Use the asset for a specified period

d. Sell the assets

पट्टा समझौते के तहत, पटे्टदार को अक्षधकार क्षमि जाता है

(ए) पट्टादाता द्वारा अक्षजगत शेयर िाि

(बी) सांगठन के प्रबांधन में िाग िेने का

(सी) एक क्षनक्षदगष्ट अवक्षध के क्षिए पररसांपक्षि का उपयोग करने

का 

(डी) सांपक्षि बेचने का 
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Section D – English 

Directions (Q.nos. 31 to 34) Complete this 

passage by selecting the most suitable 

word/phrase from list to fit the corresponding 

gap. 

The 31. _  of India as an economic super 

power is not reflected in the  32.   _ of life 

enjoyed by its 1.2 billion citizens, according to 

the Human Development Index, which 33. _  _ 

India very low among 182 countries. In our 

performance- oriented world, measurement 

issues have taken on  34. _  _ importance as 

what we measure affects what we do. 

31. Which of these fits gap 14?

a. quality b. spirit

c. span d. joy

32. Which of these fits gap 15?

a. scored b. qualified

c. regard d. ranked

33. Which of these fits gap 16?

a. great b. unduly

c. trivial d. considerably

34. Which of these fits gap 13?

a. pursuit b. perception

c. conversion d. title

Directions (Q.nos. 35 & 40) Read the 

following information in passage and answer 

the questions given below. 

Canopy of Nature 

Dad decided last Sunday that we should all go 

on a camping trip. 

He read an article in the Sunday paper about 

camping and how it “brings families together 

under the canopy of nature.” 

“Overrated,” I joked. “What about the canopy 

of television or the canopy of restaurant 

food?” 

“This will be good for us,” Dad said, sliding the 

magazine across the coffee table. “Let’s go 

next weeked.” 

I shot quick look over at my little brother, 

Paul. He gave me a slow eyebrow raise which 

meant, “This will probably not go off 

completely as planned.” 

My smile back said, “But it will surely be fun.” 

I started to think back. Once Dad decided we 

should all learn how to canoe. We borrowed 

two canoes from our friends, hoisted them on 

the van and drove for three hours to a 

secluded lake in Virginia. Alone in the middle 

of nowhere, we discovered that we had 

forgotten the paddles. 

Paul and I got in a canoe with Dad and our 

two younger sisters got in a canoe with Mom. 

We floated aimlessly around the lake for 

hours. Then, we all jumped in with our life 

jackets on. We pushed the canoes back to 

shore. It was a fantastic trip. 

Another time, Dad decided we should all learn 

how to ski. All of us hate the cold so we spent 

the weekend huddled by the fire, drinking hot 

coca in the ski lodge and playing board 

games. It was great. We had a blast. 

When Istopped day dreaming, Mom was 

saying, “Sweetheart, we don’t have a tent.” 

“We don’t need one!” Dad said happily. “We’ll 

take all the seats out the van when we get to 

the campsite and put in an air mattress.” 

I don’t know what the punch line will be on 

this excursion, but I am sure with Mom, Dad 

and the four of us kids scrunched in a van at 

some national park, we are bound to have a 

good time. 

35. Which best describes the narrator’s tone?

a. Condescending b. Sarcastic

c. Jovial d. Annoyed
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36. The narrator probably says the camping trip

will have a punch line because he or she feels

it will

a. be expensive

b. have difficulties

c. have a funny ending

d. involve fighting and turmoils

37. As used in the middle of the story, which of

the following could accurately be described as

secluded?

I. A hiking trail known only to a few.

II. A crowded movie theater.

III. A popular beach on the California coast.

a. Only I b. I and II

c. II and III d. All of these

38. As used at the end of the story, which is the

best synonym for excursion?

a. Evolution

b. Exodus

c. Expedition

d. Hiatus

39. What lesson does the narrator’s family seem

to live by?

a. Camping is sure to be an adventure

b. Danger is only in the imagination

c. Things don’t need to go as planned to

have fun

d. Reading the newspaper is a recipe for

trouble

40. Which alternate title fits this passage best?

a. “No Paddles”

b. “Never as Planned”

c. “Hot Coca by the Fire”

d. “Van Camping for Beginners”

Section E – Logical Reasoning 

In the following questions 41 to 45 questions 

numbers are arranged in a series with come 

principles understanding it. One term in the 

series is missing as shown by . This term is 

given as one of the alternative amongst the 

four numbers given below it. Find this term and 

show your answer against the question number 

on the answer sheet. 

यनबनललखखत प्रश्नों में प्रश्न सा्ं याएां41 से 45  एक 
श्ररांखला में व्यिजस्ित की गयी है । श्ररांखला में एक 
अांक गायब है । यह अांक नीर्े ददए गए र्ार 
विकल्पों में से एक है । इसे ढूांढें और उत्तर पत्र में 
प्रश्न सा्ं या के के सामने उत्तर इांधगत करें

41. 1, 12, 18, 25,  , 52 

a. 32 b. 33

c. 35 d. 34

42. 9, 16, 25, 36,  , 64, 81 

a. 407 b. 427

c. 467 d. 49

43. 2, 2, 4, 12, 48,  .777777

a. 2407 b. 2207

c. 1927 d. 200

44. 25, 22, 18, 13, 7, . 

a. 17 b.727

c.737 d.70

45. 8, 27, 64, 125,  , 343, 512

a. 150 b. 220

c. 216 d. 180

In question 46 to 50, English alphabets are 

given digital numbers. Using them, find the 

correct code of other English words from the 

alternatives. 

प्रश्न 46 से 50 में, अांग्रेिी िर्ों को अांकीय सा्ं या 
में कोडडत ककया गया है । कोड का प्रयोग कर , 

ददए गए अांग्रेिी िर्ो का विकल्पों  से सही कोड 
यनकालें  

46. TAKE = 3456, KAML = 5479 , MAKE=?

a. 7465 b. 7456

c. 7546 d. 7564

47. DOG = 467, CAT = 321 , GOT= ?

a. 716 b. 761
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c. 671 d. 617

48. A = 1, B = 2, C = 3, D = 4, E = 5, F = 6, G = 7,

H = 8, I = 9 and BCGH = 2378, CDHI= ?

a. 3498 b. 3849

c. 3489 d. 3894

49. CAMEL = 34567, METAL = 56847, LEMAT=?

a. 76584 b. 76458

c. 76548 d. 76854

50. HIDE = 8945, BDAF = 2416, DIBF=?

a. 4962 b. 4692

c. 4296 d. 4926
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